MEERDODBBRERVARY VD IERN (MmBEH)

HHAEO RS A B (TS T0) BRI 55, — B Lo CROET, (Wi B 16T TS £ £ 0. SRR FE, ) }HT‘
(AR, FENEITRRBDLG RIS NET, FETIA— I —RICTHR TSV, BEBHoT 6 HRFEROTETT, ) o EBEIF*:I; K2l 1/-5'.:3&9/5/7\
T381-0038
[201 0 6A)] #HE—E RACEHA 2010 £ 6 A 5 H ARRESTRIE 071
TEL:026-256-9677 FAX : 026-256-9688
X OEEMAE IS, BVERHLGA . TR AV, info@tke-g.jp FTITEAZI TSN, [20104F 6H] <= 1> URL:tto: /v, tho-. Jb/
55 H ) R | o KUDIERA/ ) (#eZE  |[#E |7 For—PEREMAX)| B (MAX) » o o
O P sir [mmn| UK T | zens| s ot osm] i | oo | tay | oM K QONBRRERERLTOET,
68 | 1 B |CRAEVAZ—FvryRL 7 20[7]| 3&3&10&13| 99.9 9.9 | 60.0% | 3.057 ; 4 | 335 6.00 | 502 <THeZE>ZETE2R=5.0% - 4R=35.0%+ 15R=20.0%
TKS60Z2 15 | 1,255 <G >4R=40.0%
@ BRIMELEI=72L @I/ Yy =72L @IREH) =7l @8FHAEY—) @I AEIEW{L]
E R |CRASU = L2AZ ST# |220r92| 3&3&10&15| 129.8 | 13.72 | 100.0% | 2.545 2 0 CHFE RO 29HE2R=18.0% - 4R=42.0% 8R=32.0% * 16R=8.0%
~ENOREEZBZ (ST=8) 0 4 | 559 . IRFREZE T > 22[A]=88% - 92[R]=12%=22[A]=50% - 92[F]=50%
@ ERIEL =72 @MY =72l @IREH) @I7{EAT)—) @IET—EkiH k) 8 |[1,117 I6RB%W)IT AT, REE92[F = I I92[R]
@ TV R DIRREA E) ) {15 16 {2,235
A—EE |CRA—/—< Y — X ST BRA| 3&3&10& 15| 398.6 | 39.86 [ 100.0% | 6.555 2 0 [~V] <HeZs>222R=48.0% (WA R=46.0%- FEH K =2.0%)
KL—S 74A] (ST=74)| 84.7% | 7 | 35| 482 | 9.97 [ 960 <HeZE>925R=25.0% 11R=27.0% (JUB=2.0% & ¢ ¢)
@FFE =L HAAE) 11 | 1,060 [BEF2—]<FEZE>11R=100% (JUBHEL)
O [ BRTEE | =[(MInR]1Z A7 @IRED) =50 @I8fHAE)—) @IEF—Eill) @/ YY IFER=1/199.3(~Y)
Z1-%Y |CRITAAIDLT~Y H-VG) |#RA| 4| 3&3&9 397.4 | 40.55 | 90.0% | 10.101 10 2 0 =03 | 836 [~V]  <HEZE>ZE2R=T4.0% (FIENELR, 25| &= K H F7-45)
&8&15 7 | 978 <HEZE>TR=16.0% (54K 4[E]1=14.0% - B H K YR [F1=2.0%)
@ [ IRAEAS | =R R+ E 50 2~ @TRAEHh =5y @I8{EHAT)—] @IET =— Bl <GE > TR=10.0% (e 4[A])
@ /Y0 e =1/141.93 (~) [ F2— ] <HEZE>222R=8.0% TR=82.0% (}°4=10.0% - YK [A]=72.0%)
GHlF>TR=10.0% (HpE 4[H])
CRTN 1D LT~ H2-V(G)| BIRkAE |  4lAl| 3&3&9 299.8 | 30.59 | 83.0% | 5.961 10 2 0 633 | so1 [~V] <HeZE>222R=43.0% (WIEE R, 25 | =484 7-45)
&8&15 7 | 978 <HEZE>TR=40.0% (545" 4[A]=5.0% - K YK [A]=35.0%)
@ [ IRAEAS | =R RIH A )] 2~ @IRE S =Hy @I8{EHAT)—] @IET =— MBIl GEH>TR=17.0% (e 4[A])
@ /Y0 =R =1/136.27 (~) [FF2— ) <HEZE>222R=2.0% TR=81.0% (¥7°4=9.0% YK [F1=72.0%)
GHlF>TR=17.0% (HpE 4[H])
I-AEHF |CRAFATF72Kiss JRX+ WRA| 100/ | 3&3&10&14 | 331.8 | 33.18 | 63.0% | 3.655 o 5 | 518 1361 | 1.411 [~Y] <HEZE>222R=13.0%-5R=10.0%- 15R=40.0%
@ I RIEL | =[(WEER]IZ A7 @IREE) =5H) @I8EAT)—) @IET —EkiH k) 15 | 1,555 GHEH > 15R=37.0%
@ /Y0 fife=R =1/442.33 (~) [EF2—]<HEZE>5R=8.0%  15R=55.0% <ifi % >15R=37.0
CRAZAF7:Kiss KRX+ |F§ﬁ:7ﬁ 100[A]| 3&3&10&13 | 288.3 | 28.83 | 61.0% | 3.630 o 5 | 478 12.84 | 1299 [~Y] <FEZE>Z22R=10.0%-5R=10.0%- 14R=41.0%
@ I RIEL | =[(WEER]IZ A7 @IREE) =5H) @I8EAT)—) @IET —EkiHk) 14 1,339 ' GHEH > 14R=39.0%
@ /40 | fife=e =1/384.33 (~) [EF2—]<HEZE>5R=8.0%  14R=53.0% <ifi 7 >14R=39.0
CRAA X XF7¢Kiss SR4+ 7L 36] 3&3&10&12| 87.25 | 8.73 | 100.0% | 2.464 4 | 351 CEFE LR > AR=67.0% 8R=24.0%  16R=9.0%
ST# (ST=4) | 59.4% | 8 8 | 701 | 6.04 | 530
@ BRIMELE =720 @I/ Yy =72L @IREH) =7l @8FHAEY—) @I AEIEN{L] 16 | 1,403




M OREAIAR I, RRVENH DS S . TR A— /LI, info@tke—g.jp FTITEAEZEY, [2010%F 6H] <~X—v 2>
55 H ’ R | e o KUFERA/ ) |#eZs |88 |7 For—MEREMAX)| S (MAX) . L o
O s bir k| B * [ | soe| essin o ose] e | oo [ ooy | o KTEL D ORRIRFIRERLCOST.
68 | M= |CRL—¥—3+hL FPE TV oons 3&3&5 159.5 | 34.8 | 100.0% 2 | 189 2R=28.0% *6R=61.0% +14R=11.0%
ST# &10&13 (ST=55) 8 6 | 566 | 5.76 | 543
14 {1,321
CRI—2Zp 2% —2 FPB BIRA | 208l 3&3&8 131.0 | 22.1 | 80.0% 9 TT7 | 439 D ENT
&10&11 16
X ET4y =10 EER KT 74y h—=8ME E Bk 110~1,269
138 | H3— |CRVZT K2 CV BRA| 30ME]| 3&3&13&15| 124.8 | 19.5 | 55.0% | 2.829 3 | 293 [~V] <HeZs>25HE2R=8.0%  3R=10.3%" 4R=14.0%+ 6R=8.0%
4 | 391 *9R=2.2%+12R=1.1%16R=11.4% <@ ¥ >4R=45.0%
@ B KL | =W RIZ A~ @IRZH)| @IS{HAET)—| @IET = —EIEiHk) 7 6 586 6.8l | 665 [T 2] <HEZ>Z2HE2R=8.0%+ 3R=0.0%+ 4R=14.0%+ 6R=0.0%
@/ 4V k= (~)1/1,560.4 (FEFa2—)1/65,536 9 | 879 *9R=0.0%" 12R=0.0%+ 16R=33.0% <J@%:>4R=45.0%
12 {1,172
16 {1,563
B B |CR¥TF~=VU—1T707R BRA | 3FEME| 3&3&4&T | 129.7 | 36.9 | 68.0% ? 10 | 2212] o0 0 [~V] <FEZE>2212R(47)=12.4%12R () =20.0%
~2900t#% | (60/80/100[=0) (FRPETEEHAAN ) F12| 716 | 596 <HeZE>12R (£7) =20.8% ML —F A4 F1=14.8%
@11 = T+ ke #12] 700 | 638 <BBPNER>12BA=0.4% 24BH=1.6%- 36 B1=12.0% - GupB=0.8%
@ R | =[R2 1~ @IREH) =) @ISHAE)—| @IETF=—MEIiH k) 2.05x12B8| 233 | 133 EFON MR —F A+ 12RBH=12.0%- 24BA=20.0%
@/ = 2.05X24F1| 467 | 296 [FEF2—]<FEZ>2212R (£5)=0.0% 12R () =0.0%
2.05X36BH| 700 | 438 HEZE>12R (F7)=26.0% /SRR —F A5 5=42.0%
JV—NTy7B 700 | 638 <BBPNFR>12BA=4.0%+ 24B§=10.0%+ 36 B=27.2%+ GupB=0.8%
SIRFDA=N—FE R D H EAEE GEE >N MR =T 2+ 12RBH=10.8% 24BH=21.2%
#Ut{R&D|CREAHZ = SS BRA|  oF| 3&3&10 339.6 | 39.98 | 81.0% | 5.263 . TF15( 1,045 15.00 | 1110 [ B 4] T 74y h—<HEZE> T 15R=81.0%<3@ % > 156R=19.0%
@:RAEZE T LR &11&12 4151 1,130 ST MEZS 22 AN 3E=50.0% Tk HERE 25 2 A=31.0%
@ E =T — o B XTFTovh—=11EEER AT 4o h—=12(8E K (B4 VAT 4y h—<HEZE> T 15R=81.0%<38 % > 15R=19.0%
@ B KA | =R GE] @T/N4D fEsE=70L @IRZW =72l @I8HAE)—) @IET =—ELilHk] ST A HEAE 22 N HR=81.0% FEI R HEMEZE 22 A=0.0%
208 | LRy |CREZLG AT —& ) — MBS (*éfﬁtﬁ| STEMH| 3&3&10&13 | 359.8 | 35.98 | 82.0% | 6.167 2 | 191 [~V] <HEeZE>2R(EFA)=15.0% - HETR=42.0% - 15R=25.0%
(30/50/70[71) . (1.6% X 8[aD) 017 ] o GEE D 2R(EA)=18.0%
@ B RIEE | =B Rk Y17 @IRED)) @I8fAEY—] @IET—ESIH k) FE 7| 670 (B Fa—)<HEZE>25ME2R=15.0% - 15R=67.0% <J@%>2R=18.0%
@ /)40 i =(~>) 1/359.8+(dF=—) 1/1,439 (3%1.6%> X 8BAA) 15 | 1,435 I LR >30[A]=72.22% 50[A]=16.67% 70[7]=11.11%
CRitFR AR~ — GS | MR | 3AEk| 3&3&10&10 | 154.8 | 19.34 | 80.0% [ 6.126 210 (~V] <> 2eHE2R(E)=15.0% « S2TR=45.0% * 15R=20.0%
(20/40/60[71) ; (0.28 X 2R) 20 | 102 Gl 2R(E 8)=20.0%
@ B RIEE | =B RIkE] Y17 @IRED)) @I8fAEY—] @IET—ESIH k) F 7| 376 [ <M ZE>22ME2R=15.0% « FZ7TR=25.0% - 15R=40.0%
@ /YD = =(~Y) 1/206.3-(FEF=2—) 1/619 (3%0.2F> X 2B87%) 15 | 805 GEH2R(EME)=20.0%
| <HE%E B 2R > 20[A]1=55.0% - 40[A1=30.0%  60[F]=15.0%
CRAMSIAKT—4#F— s | Wikt | 3ME| 3&3&10&10] 99.25 | 9.93 | 76.0% | 5.255 2 | 0 <S> 22 E2R(E HE)=10.0% + FETR=62.0% + 15R=4.0%
(20/40/60[7]) . 0.2F0 X 2R) won | aqo [CEFOIRCER=24.0%
@ [ RIEA | =Kk 121~ @IREE) =72l @I8EAT)—] @IETF—ES ) F 7| 439 <P HE R 20[H1=87.50% 40[1=8.33%+ 60[]=4.17%
@ /)40 R =(~>) 1/198.5- (FEFa—) 1/397 (%0280 X 2B | | | 15 | 940




M OREAIAR I, RRVENH DS S . TR A— /LI, info@tke—g.jp FTITEAEZEY, [2010F 6H] <~<—v 3>
55 H ’ R | e o KUFERA/ ) |#eZs |88 |7 For—MEREMAX)| S (MAX) . L o
N E B4 A o R Tt sense| s o] i [y ooy || M5M % QOMBREERERLTET,
208 | =Y [CRASIV B A5E SAF(S) STE | 3fMi| 3&3&10&10| 97.0 | 13.86 | 100.0% | 2.726 ; 8 | 501 a6t | 51 B R ERO8R=92.0% - 16R=8.0% (16RIZ., B ¥4 100/H])
(25/50/100[a]) (ST=8) | 63.3% 16 {1,003 CEEFFHLERY - 25[A]=30.0% - 50[A=56.0% 100[8]=14.0%
REEXE |CREBAZHLIZDOVa— STH | 70[H]| 3&3&10&15 | 399.6 | 43.50 | 100.0% | 5.590 | 7 | 14 [1,349] 12.62 | 1,216 |[[-~/]  Z2HE14R=55.0% K241 14R=45.0%
MAX edition | &K 4A] (ST=74)| 82.1% <ZEREPNFROPIEIEIR=54.5% VIR AK#E=0.0% B H=0.5%
@ IR | =W IR]IZ A7 @TRES)) @I8{HAT)—) @IET— MBIl @I/I4Y fEk=20? [EF2—] KHV14R=100.0%
CRIFBAZARIHTA S — STH | 70| 3&3&10&15| 399.6 | 43.70 [ 100.0% | 5.546 | 7 | 14 |[1,349] 12.49 | 1,182 |[~Y]  Z2f14R=60.0%" K 4V 14R=40.0%
MAX edition HR3 | &k 4] (ST=74)| 82.0% <R PN FRO MBI BRI IR =47 5% IR HE#E=10.0%  EEH KA =2.5%
@ BRI | =)lal + ikl @TRZAS) @I8EAT)—] @IET=—MEkiHl) @I/IEV fER=1/115 [EFa—] KHV14R=100.0%
BAT RS |CRT T2~ ~ STE | SFME| 3&3&10&11 | 117.7 | 11.77 | 80.0% | 229 2 | 179 <HEZE>2R (#75°32) =18.0%+ 5R (4K B[EI= ¥R 2 7[R R) =60.0%
(5/32/100[7]) (ST=32) 9 5 | 448 | 4.06 | 364 [<HEZE>15R (P& 32+p4H68)=2.0% <@ F>2R (Hp4E32)=20.0%
@ BRI | =R UI% @I/ 4Y =72l @IREH =7/L @I8HAEI—) @I AEIEN/{L] 15 | 1,345 TR | O5RY VL, 4" 32[0] 4 K68 R HiRIC /2 D,
CRATFI~Z~ SW STE | S| 3&3&10&10 | 48.8 | 5.43 | 76.0% | 229 161 HEZE>2R (ST6+HF12) =14.0% 4R (K 5 [EI= TR 1 [A]#E) =61.0%
(5/18/100[71) (ST=6) 9 | 4 | 323 | 3.35 [ 270 |<FEZE>15R(ST6+HFAE4)=1.0% <@ >2R (Hr4E18)=24.0%
@ BRHEL | =)t @I/ 40 =72 @IRETE =7/l @ISHAEY—| @I ANENEHL 15 [ 1,210 S TEBYEHE ) O4ARYGVIX, ST6[A] + R 12R]H:12 72D,
278 | ERXT« [CRzY 75T 7L 70[A]| 3&3&10&15| 358.1 | 38.80 | 70.0% | 4.054 10 8 |1,117 0.05 | 1.390 [~V] <HeZ5>9215R=25.0%8R=16.0%" 15R=29.0%
~IEFEVDOEEZF~ SRW 15 {2,095 G >8R=30.0%
@R 1 =72l @U/INYY =72 @IREH I =hHV @I8HAT)—] @IETF —EI N [ F2— <M ZE>2215R=8.0%8R=16.0%* 15R=46.0%
<@ >8R=30.0%
2009/4/5|CREF = 7o VA 7L | 100[H]| 3&3&10&13 | 346.8 [ 34.68 | 65.0% | 3.814 | 9 | 15 |1,615( 13.49 | 1,452 [[-~~] <HeZE>2R=30.0%- 15R=35.0% <ig 7 >15R=35.0%
~E%DYE SFWS @ [EREZ | =72l @I/ 4V =72 @IRAET) @I8fEHAE)—) @IETF=—MWei{b) [[EFa—] <HZ>2R=3.0%- 15R=62.0% <if#H >15R=35.0%
TLATYIR [CRZaZv 2 S3 |1000r0 3&3&10&13 | Kok | #%) | ¥yMk g 2 | 189 S, FEAR AR
@ 17+ 2R 51 @FFE =TI H kR 1/11.0 [ 1/11.3| 3ME 16 | 1,509
CRE=ZTw 2 3=S2 | [ 1000r0| 3&3&10&13 | Rk [ &2/ | whsk . 189 S, FERMA R
@ 17+ 2R 51 @FFE =TI B4R 1/8.2 | 1/11.3| 2= 8 | 755




